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Fill in the blanks.
A number multiplied by 0 gives the answer

28765 x1 =

800 + 2

7x3000 =

10x 10

299 + 299 =

6320 + =1

(8126 x 32) x 4 =8126 x (32 x )

0+9220 =

5643 x 100 =

. Find the product.

Marks :

/20

(5)

(2)

a. 6075 x 32

2640 x 185




I11. Find the quotient and remainder. (2)

a. 36060 + 12 b. 73195 + 9

IV. Read carefully and solve. (6)

1. A shopkeeper buys rice sacks for Rs.845 each .How much does he pay for 75 sacks of
rice?




2. There are 1128 students in 24 sections. If all sections have equal number of students,
find the number of students in each section.

3. 429 chocolates have to be distributed equally among 11 children. How many chocolates
will each child get?

V. Mental Maths. (5)
1 2. 3
4 S. 6
7 8. 9

10.




